CURYBIRWA Declaration of Conformity

6305 S 231st Street

Kent, WA 98032
800-466-6385

conformity with the requirements of the following standard(s):

Guardian Fall Protection, in accordance with ANSI/ISEA 125-2014, declares that the product(s) listed below is(are) in

Substrate/Fastener Performance Standard

Conformity
Level

Simulated wood roof (3/4 in.) in truss & #14-10 x 2 in. screws | ANS| Z359.18-2017, OSHA 1910, OSHA 1926 Subpart M |Level 2

Simulated metal roof (20 gauge) in field & #14 x 2 in. screws | ANS| Z359.18-2017, OSHA 1910, OSHA 1926 Subpart M |Level 2

6 in. thick concrete & (30) 1/4 in. x 2-3/4 in. screws [ANSI 2359.18-2017, OSHA 1910, OSHA 1926 Subpart M |Level 2

Simulated 3/4 in. CDX wood roof into field & (30) #14-10 x 2 in. wood screws | OSHA 1970, OSHA 1926 Subpart M

Level 1

For Level 2 assessment, the ISO 17025-accredited test facility in which the product was tested is:

An independent third party

Owned or partially operated by an entity within Guardian Fall Protection's corporate structure, or within the manu-
facturing stream for this product, including subcontractors and subsuppliers.

Declaration Number: ~ 18-0010
Product Type: Type A Anchorage Connector

Product Model(s): 00300, 00310, 00320, 00321, 00330

Test report reference

Number: |2018062500300

Date:

06/25/2018

i;/f/f s _

Authorized Signature:

Name (printed): Eric Helgeson

Title (printed): Regulatory & Quality Compliance Director

Date: 07/12/2018




	Report number 3: 18-0010
	Job number 3: Type A Anchorage Connector
	Product 3: 00300, 00310, 00320, 00321, 00330
	Text Field 6: 2018062500300
	Text Field 7: 06/25/2018
	Radio Button 2: Choice2
	Text Field 1107: Simulated wood roof (3/4 in.) in truss & #14-10 x 2 in. screws
	Text Field 1108: 6 in. thick concrete & (30) 1/4 in. x 2-3/4 in. screws
	Text Field 1109: 
	Text Field 11011: 
	Text Field 11013: 
	Text Field 11012: Simulated metal roof (20 gauge) in field & #14 x 2 in. screws
	Text Field 19: Simulated 3/4 in. CDX wood roof into field & (30) #14-10 x 2 in. wood screws
	Text Field 20: 
	Text Field 21: 
	Combo Box 503: [ANSI Z359.18-2017, OSHA 1910, OSHA 1926 Subpart M]
	Combo Box 504: [ANSI Z359.18-2017, OSHA 1910, OSHA 1926 Subpart M]
	Combo Box 505: [ANSI Z359.18-2017, OSHA 1910, OSHA 1926 Subpart M]
	Combo Box 506: [OSHA 1910, OSHA 1926 Subpart M]
	Combo Box 507: []
	Combo Box 508: []
	Combo Box 509: []
	Combo Box 5010: []
	Combo Box 5011: []
	Combo Box 28: [Level 2]
	Combo Box 32: []
	Combo Box 30: [Level 2]
	Combo Box 33: []
	Combo Box 29: [Level 2]
	Combo Box 34: []
	Combo Box 31: [Level 1]
	Combo Box 35: []
	Combo Box 36: []


